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10 Cubes X 6 Faces

9 overlaps = 18 overlap faces

= 60 Faces - 18 overlap faces

= 42 Faces Showing

Tsa =Faces Showing x Area of one face

Tsa =42 faces x 25 cm?

Tsa = 1050 cn?
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12 Cubes X 6 Faces

17 overlaps = 34 overlap faces

= 72 Faces - 34 overlap faces

= 38 Faces Showing

Tsa =Faces Showing x Area of one face

Tsa =38 faces x 4 cm?

Tsa = 152 cnt
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Determine the surface area of the composite object.

*count bottom

10 cm

20 cm

STEP 1: Calculate the surface areas of the LARGER rectangular prism

20, 6,10

o o 20 cm
A=bxh A=b x h A=bxh
A= 20cm x 10cm A= 6cm X 10em A= 20cm X 6cm

_ 2

A= 200 cm A= 60 cm? A= 120 cm?

_ 2
2A= 400 cm 2A= 120 cm? 2A= 240 cm?

SAbig= 400 cm’ +1 20 em’ t 240 om’

SAyg= 760 cn

Step 2: Calculate the surface areas of the SMALLER rectangular prisms

3,4,1
2 Jeem
3 cm 4 cm
A=bxh A=bxh
A= 3cm X 4cm A=4cm X 1em
_ 2
A=12 cm A= 4 cm?
- 2
2A= 24 cm 2A= 8 cm?

SAsmaIIer= 24 .+ 8 o’ + 6o’
S'A‘smallerz 38 cm’

3cm

A=bxh
A= 3cm X 1cm

A= 3 cm?

2A= 6 cm?

Step 3: Identify the over lap (Hint: Always on your smaller shape)

lcm

4 cm

Step 4: Calculate TSA (Total Surface Area)

TSA = SA,, *+ SAgma - Overlap Area

TSA =760 cm’ + 38 e’ - 8 e’

TSA =790 om’
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Determine the surface area of the composite object.

*count bottom

4 cm
< s
(e}
3
8 cm
(T
16 cm
STEP I: Calculate the surface areas of the LARGER rectangular prism
16, 4,8
16 cm
16 cm 4 cm
A=bxh A=bxh A=bxh
A= 16cm X 4cm A= dem X 8cm A= 16cm X 8cm
— 2
A= 64 cm A= 32 cm? A= 128 cm?
_ 2
2A=128 cm 2A= 64 cm? 2A= 256 cm?

SAbig: 128 ¢’ + 64 v’ + 256 o’
SAbig= 448 cn’

Step 2: Calculate the surface areas of the SMALL cube
4,44

cm

4cm

A=bxh
A= 4cm X 4em
A= 16 cm?

6A= 96 cm?

SAsmaHer= 96 cm’

Step 3: Identify the over lap (Hint: Always on your smaller shape)

A=bxh
4 cm A= 4cm X 4cm
4 cm

A= 16 cm?

2A= 32 cm?

Step 4: Calculate TSA (Total Surface Area)

TSA = SA,; *+ SAqna - Overlap Area
TSA =448 o + 96 o’ - 32 o’

TSA =512 .
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